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5. SEE=20m 3N ASE=16m.
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M
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2479 B
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(iv) @i & 2l

STfE W 1H B3 () 3"2‘@, 3+2‘/B Gi) 1,2 4. 77

5. T § redieh = 12, SAUSH H WIwdish = 18;

71 Tford | Wredieh = 13, 370SH W Wedish = 17
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EC 3R NR &1 Tiemsy)
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yyATaet 6.4
112cm 2. 4:1 5. 1:4 8. C 9. D
yyATaet 6.5
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yyATaet 7.3
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2.
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yyATaet 8.1
)] sinA:l,cosA:ﬁ (i) sinCzﬁ,cosC:l
25 25 25 25
0 3. COSA=ﬁstanA:i 4. sinA=1—5s secA=1—7
4 J7 17 8
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13 13 12 5 5
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(1) o4 (i) o4 . &l
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. . X P==, p:_,t P=—
@ 1 @) 0 10. sin T cos T an 5
() A (i) T (iii) 3TEA (iv) 39 (v) TEA
yyATaet 8.2
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yyATaet 8.3
1. G 1 (i) 1 (iii) 0 (iv) 0
3. LZA=36° 5. LZA=22° 7. cos23°+sin 15°
yyATaet 8.4
J1+ cot’A
1. smA=;stanA= > SEC =—COt
4+ cot’ A cot cotA
\/seczA -1 1
2. sinA=Y——,CcosA = > tan A = 4/sec’A — 1
sec A sec A
1 sec A
COt A = ——> C0SeCA = ————
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3.0 1 (i) 1 4. () B ) C Gi)D (v) D
yyATaet 9.1
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yyATaet 10.1
1. °Tafifyd ®9 9 oFe
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yyATaet 10.2
1. A 2. B 3. A 6. 3cm
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ATt 12.1

28 cm 2. 10cm

3. @ 346.5 cm?; A : 1039.5 cm?; el : 1732.5 cm?; ShTedl: 2425.5 cm?; 9% : 3118.5 cm?.

10.

13.

12.

14.

4375 5. A
gyATeett 12.2
154
2cm2 2. Ecm2 3. —om’
8 3
(1) 28.5cm’ (i) 235.5cm?
. ) . 44143)
(1 22cm (i) 231cm? (i) | 231 - 2 cm
20.4375 cm?; 686.0625 cm? 7. 88.44cm?

385
() 19.625m® (i) 58.875cm® 9. (i) 285mm (i) ——4—-mm2

22275
== cm’ i, 138125 e 12. 189.97km?
28 126
7162.68 14. D
wo-Taet 12.3
4523
cm? 2. ﬁcm2 3. 42cm?
28
22528
[@ + 36«/5} cm? 5. g cm? 6. [T - 768\/5} cm?
42 cm? 8. () 224, (i) 4320
66.5 cm? 10. 1620.5cm? 11. 378 cm?
4
(i) %}cnf (ii) ??cnf 13. 228 cm?
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308 2 15. 98 cm? 16. —7—cm2
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yyATaet 13.1

1. 160cm? 2. 572 cm? 3. 214.5cm?

4. G99 9 AW =7 cm, IR &A% = 332.5 cm?

5. %12 (m+24) 6. 220 mm? 7. 44m?, T22000

8. 18cm? 9. 374 cm?
yyATaet 13.2

1. nem?

2. 66 cm’. ATSA o ST hi BAl 1 TG = SANF Tl I AT (W + F + W)

_ Gnrzh] + rthy + % nrzh,} el Y T So Y B €, b, F HT SR S,

e 1 ST (FaTE) B

1
ST = gnr2 (hy+3hy, + h).

3. 338cm’ 4. 523.53 cm® 5. 100 6. 892.26kg

7. 1.131 m® (SRT9) 8. Wel &l B WEl ST346.51 em® B
wo-Taet 13.3

1. 2.74cm 2. 12cm 3. 25m

4. 1.125m 5. 10 6. 400

7. 36cm; 124/13cm 8. 562500 m? AN 56.25 TR 9. 100 fiFte
wo-Taet 13.4

2 3 2 2 2
1. 102§cm 2. 48 cm 3. 7107cm
4. 3¢ 1 god T 209 7 99N U1g-¥ie 1 gea 156.75 | 5. 79644m
yyTaet 13.5 (Ufesen)*
1. 1256 cm; 788g (TTIH) 2. 30.14 cm?; 52.75 cm?

1792 4. 782$cm2
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1. 8.1 o geaw fafyr 1w foan @ oRiifep x, Ao/ o e e 9 <

2. 354520 3. f=20 4. 759
5. 57.19 6. 3211 7. 0.099 ppm
8. 1248fA 9. 69.43%

gyTaet 14.2

1. 9g% =36.8 9%, ATeA =35.37 6 | STEHATG | Wt ATeehan W 36.8 94 1 (STHT) &
&1 S T ofee ereddel o wdl oy w AT 1 erg 35,57 99 ©

2. 65.625%
3. dge i Aifde @4 =3 1847.83, AT Hifdeh @@= =3 2662.5

4. SETH:30.6, HIEA=29.2. ATHI TA/U.T. § ST 3R 7Tk 1 91 30.6 € 3R
S T8 31U 29.2 7

5. TEAH=4608.7 6. TEAE = 44.7 FHR

gyATeet 14.3
1. HETE = 1373HE, WA= 137.05 SHE, S5 = 135.76 3HE

7 fefa & 3 & w9 o g9 2
2. x=8,y=7 3. HIE® S =135.76 a4
4. WS GEE=146.75 mm 5. T Sfe = 3406.98 H
6. WAF=8.05, WA=832, dgAH="7.88

7. HIEAE WR=56.67 kg
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wo-Taet 14.4
1. e o (% H) et
EIRCIRG
1209 &1 12
1409 =9 2 faigett (120, 12), (140, 26), (160, 34),
1609 =Y kY1 (180, 40) 31X (200, 50)
1809 &Y 40 ! AfEd T aRoT Gifeu)
2009 51 50

2. faigeii: (38, 0), (40, 3), (42, 5), (44, 9), (46, 14), (48, 28), (50, 32) 3R (52, 35) ! ARG T
W@ﬁmaﬁg — 17.5. dRon W 5 fagati =i ke Hifs forht wife 17.52139 fag
o1 x-fdens wremen gl

3. ERICE et
(kg/ha) AT

50 ok SER A1 AR 100

55 ok SER A1 A %

60 o SIS A1 AR 9

65 o e A1 AR 78

70 o SER AT AR 4
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